Sioux Fallls, SEB71 083
www.elstommifg s
1-800-845-1385

Revision

Uipdiatest] 2 20106




Table of Contents

i A" & dz /[E&KZD d/KE i

i ' E Z>/E&KZD d/KE 1

i D>z |[E~AdZKh d/KE”? T

o0 h~/E' zKhZ "KW, Z ' dd Z

0

dd ,/E'KW, Zdd z @k dKZ 0
Ndd/EAWY  Z AM D >z 0
‘hr"d/E' WKA/dEKE K& /d il
ch~d/E' Wd, /d il
:h~"d/E'Wd, KR&h>d Z if
Kw z d/EE~"dZh d/KE~? in
Kw z d/d'w~» in
/d/KE[EB&KZD d/KE in
A D J/Ed E E io
s Zz h” T
s Zz ~ ~AKETKiz> XK& /d io
"'roiltz ~W/Ed~ io

3DUWV /LVW((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((((t(((



6DIHW\ ,QIRUPDWLRQ

1 6DIHW\ ,QIRUPDWLRQ

7KH EDLWV XVHG LQ WKLV PDFKLQH DUH KLJKO\ WR
GHDWK LI XVHG LPSURSHUO\ $0ZD\V IROORZ DOO S
\RX XVH 6WRUH EDLW DV UHFRPPHQGHG EHWZHHQ
EDLW ER]J

,PSURSHU RSHUDWLRQ RI D WUDFWRU ZLWK DQ LPS
GHDWK ,I \RX DUH WKH OHDVW ELW XQVXUH RI \RX
DQ LPSOHPHQW ILQG VRPHRQH \RX UHVSHFW ZLWK
RSHUDWH D WUDFWRU VDIHO\

3OHDVH UHDG WKLV PDQXDO DQG DOO VDIHW\ VWLFNHUV RQ
%HIRUH FRQWLQXLQJ WKHUH DUH VHYHUDO VDIHW\ LGHDV WKD

'RUNLQJ IRU \HDUV ZLWKRXW DQ DFFLGHQW |W DWR\WRWNKHECDP M/ |
VRPHWKLQJ XQVDIH IRU \HDUV DQG QRW EH KXUW 7KHV GRHV Q
EHKDYLRU LW MXVW PHDQV \RX KDYH EHHQ OXFN\ )RU H[DPSOI
ZDVQ W ZHDULQJ KLVHGOUWYW WA\UPHFOWR U+HKUBB PRYLQJ URXQG EDQC
HQAHEXS XQGHUQHDWK WKH WUDFWRU 7KDQNIXOO\ LQ WKLV FDV
KHDULQJ RI D QHLJKERU ZKR _KHDUG KLV FDOOV IRU KHOS :H FL
QXPHURXV VWRULHV RI IDUP LQMXULHYV ZLWK D VLPLODU WKHPE
WKLQJV \RX GR EHIRUH \RXU OXFN UXQV RXW

'RQ W WDNH VKRUW FXWV ZLWK VDIHW\L VY KHHP SRXL QU W RQWK KA N
ZLOO QRW WDNH ORQJ QRWKLQJ ZLOO JR ZURQJ <RX PLJKW JH\
VWRU\ LQ WKH QHZVSDSHU '2 127 WDNH VKRUWFXWYV




*HQHUDO ,QIRUPDWLRQ

2 *HQHUDO ,QIRUPDWLRQ

7TKDQN \RX IRU SXUFKDVLQJ D *RSKHU *HWWHU IURP (OVWRQ 0D
ZLOO SURYLGH \RX ZLWK \HDUV RI VHUYLFH

7KLV JRSKHU JHWWHU ZRUNV E\ FUHDWLQJ DQ DUWLILFLDO WXQ(
JRSKHUV ILQG LW DQG GLH XQGHUJURXQG RXW RI UHDFK RI RW
WR EHWWHU PDWFK WKH GHSWK WKDW WKH JRSKHUV DUH GLJJL

7KH JRSKHU JHWWHU ZLOO DSSO\ DSSUR[LPDWHO\ WZR SRXQGV
EXUURZV DUH VSDFHG IHHW DSDUW :KHQ XVHG ZLWK UROOHC
RSHQLQ@ISSOHKHFDWLRQ UDWH ZLOO DOVR EH VOKHWAHOD SOSHOAF AWK L
DUH DQ DYHUDJH IRU WKH ZKROH ILHOG DQG ZLOO EH KLJKHU I1

We always welcome feedback on our products. If you have
comments, suggestions, or problems with the unit please
contact us at 1-800-845-1385 or email at
sales@elstonmfg.com




$VVHPEO\ ,QVWUXFWLRQV

3 $VVHPEO\ ,QVWUXFWLRQV

%HIRUH EHIJLQQLQJ DVVHPEO\ SOHDVH YHULI\ WKDW DOO SDUW
*HWWHU LV VKLSSHG IURP WKHWIIDHFW BUM SHW \DR/R/HP EQH)E IXWLHY

/IDE '"HVFULSWL

*$ %DVH $V

3ODVWLF %DL

&RXOWHU 6KD

&RXOWHU %OLC

&RXOWHU $UP

JLIXUHVDVVHPEOHG 3DUWV RI *$

,QVLGH WKH EDLW ER[ \RX ZLOO ILQG D SDUWV NLW WKDW LQFOQC



$VVHPEO\ ,QVWUXFWLRQV

)LIXUH 3DUWYV LW

IDEH 4W\ '"HVFULSWLRQ

$ &RXOWHU 6KDQN &ODPSV *

% " 81) %ROWYV IRU *

& +H[ +tHDG %ROWYV *UDGH

" 6SOLW 5LQJ /RFN :DVKHUV

" )ODW :DVKHUYV

+H[ 1XWV

6HHGHU 60LGHYVY Z 3LQ *

6HHGHU 60LGH 6SULQJV *

SHWDLQLQJ 6WUDS IRU &RXOWHU %HD

3DUWV %DJ IRU &RXOWHU $VVHPEO\
FDUULDJH EROWYV  ORFN ZDVKHUV
SLQ DQG FRWWHU SLQ

&RXOWHU 6KDQN &DVWLQJ

" 6HUUDWHG )ODQJHG +H[ 1XWV

7TDEOH

&RQWHQWYV RI 3DUWYV .LW LI *$

LV QRW



$VVHPEO\ ,QVWUXFWLRQV

$VVHPEO\ RI WKH *$ LV VWUDLIJKWIRUZDUG DQG DOO RI WKH
VKRZQ LQ )LIJXUH , ] DIWHU UHDGLQJ WKH DVVHPEO\ VWHSV EF}
WKLV PDQXDO LI \RX KDYH DQ\ TXHVWLRQV DERXW DVVHPEO\ 7
LQ WKH VHFWLRQV EHORZ LQ D YLVXDO PDQQHU VXFK WKDW \R

1., QVWDOO WKH OHJV WR WKH EDVH DVVHPEO\ LI QR

, ] WKH\ DUH DOUHDG\ LQVWDOOHG VOLGH DQG ORFN WKHH LQW
OHJVY DUH LQ SRVLWLRQ WKH *$ ZLOO ORRN DV SLFWXUHG L¢

)LIXUH *$ %DVH $VVHPEO\ ZLWK /HJV

2. $ WWDFK WKH VHHGHU VOLGHY DQG EDLW ER[ WR W

JURP WKH SDUWYV SDFNDJH \RX ZLOO QHHG WKH VHHGHU VOLC
DQRG VHUUDWHG IODQJHG KH[ QXWV ODEHOHG - <RX ZLOO D!

a) ,QVWDOO WKH IRXU VSULQJVY WR WKH DWWDFKPHQW SRLC
SRLQWY DUH IRXQG MXVW EHKLQG WKH FOHDU KRVHV WK



$VVHPEO\ ,QVWUXFWLRQV

J)LIXUH 6HHGHU $VVHPEO\ $UHD RQ *$

b)1H[W SODFH WKH VHHGHU VOLGHV LQ WKH VKDOORZ VORWYV
7KH VLGH RI WKH VHHGHU VOLGH ZLWK WKH ODUJHU 10D
IURQW RI WKH PDFKLQH

c) $IWHU WKDW SODFH WKH EDLW ER[ RQ WRS RI VHHGHU VOL
YLHZLQJ ZLQGRZV IDFLQJ WRZDUG WKH IURQW RI WKH PDFK
ZLWK WKH IRXU KH[ QXWYV

JLIXUH ,QVLGH RI 3SODVWLF %DLW %R][

d $SWWDFK WKH RWKHU VLGH RI WKH VSULQJY LQVWDOOHG |
WKH VWHS LV GRQH WKH XQLW VKRXOG ORRN OLNH LW G



$VVHPEO\ ,QVWUXFWLRQV

J)LIXUH JLOLVKHG 6HHGHU $VVHPEO\

3. $WWDFK WKH FRXOWHU DVVHPEO\ WR WKH IUDPH

JRU WKLV VWHS \RX ZLOO QHHG WKH FRXOWHU VKDQN WKH FRX
Sbuwv EDJ DQG DOO WKH UHPDLQLQJ SDUWV LQ WKH SDUWYV E

a) ,QVWDOO WKH UROO SLQ LQ WKH FRXOWHU DVVHPEO\ SDI
VKDQN

b) ORXQW WKH SDUWV WKDW FODPS WKH FRXOWHU VKDQN W
FODPSV WKH VTXDUH KHDG EROWYV DQG WKH EROWYV
VKRXOG EH DVVHPEOHG DV VKRZQ LQ )LJXUH

)LIXUH $VVHPEOHG &RXOWHU 6KDQN

) 60LGH WKH FRXOWHU VKDQN LQWR SRVLWLRQ DV VKRZQ
E\ WLJKWHQLQJ HDFK EROWY D OLWWOH DW D WLPH XQWI



$VVHPEO\ ,QVWUXFWLRQV

d $SWWDFK WKH FRXOWHU DUP WR WKH FRXOWHU VKDQN XV
WKH FRWWHU SLQ WR WKH KROH LQ WKH ERWWRP RI WKH
DUP LI WKH EROW RQ WKH FRXOWHU FODPS FDVWLQJ EHF

J)LIXUH &RXOWHU $UP ORXQWHG RQ &RXOWHU ¢

e) ROW WKH FRXOWHU EODGH WR WKH FRXOWHU DUP $GM.
RI WKH EODGH LV DOLJQHG ZLWK WKH WRS RI WKH WRUS'
LV QRW DOLIJQHG ZLWK WKH FHQWHU RI WKH NQLIH ORRYV
WKHP WR PRYH WKHP LQWR DOLJQPHQW 3RVLWLRQ WKH
DURXQG DQ DUF FHQWHUHG RQ WKH NQLIH DQG WRUSHGR
QRZ FRPSOHWH DQG VKRXOG DSSHDU VLPLODU WR WKDW

)LIXUH &RPSOHWHG &RXOWHU $VVHPEO\

<RXU *$ *RSKHU *HWWHU LV QRZ DVVHPEOHG 5HIHU WR WKH
LOQOVWUXFWLRQV IRUDGMXVWLQJ WKH PDFKLQH EHIRUH LWV ILU



8VLQJ <RXU *RSKHU *HWWHU

4 8VLQJ <RXU *RSKHU *HWWHU

$SWWDFKLQJ *RSKHU *HWWHU WR 7UDFWRU

7KLV PDFKLQH ZDV GHVLJQHG WR DWWDFK WR D &DWHJRU\ WK
&DWHJRU\ 1 WKUHH SRLQW KLWFK DV ZHOO DV &DWHJRU\ |
KLWFK SLQV DUH ORFDWHG LQVLGH RI WKH SRLQW IUDPHZRUN
DV VOHHYHV DURXQG WKH WZR &DWHJRU\ ORZHU KLWFK SLQV
RQ WKH PDFKLQH DV ZHOO 7KH WRS OLQN RQ WKH SRLQW ZLC
WRUSHGR WXEH RSHUDWHVY DW D VOLJKW VORSH ZKHQ EHLQJ S.
SRLQW EHLQJ VOLJKWO\ ORZHU WKDQ WKH EDFN RI WKH WXEH
VKRZQ LQ )LIXUH

)LIXUH *$ $SWWDFKPHQW WR D &DWHJRU\ 7KUH

6HWWLQJ 8S 6HHGHU $VVHPEO\

7KLV PDFKLQH ZDV RULJLQDOO\ GHVLJQHG WR DOORZ WZR GLII
D GXDO EDLW VHHGHU PHFKDQLVPDVWH HQ IGIYQ [0 UV $VAHHWWHE DQ V
ER[ WR DOORZ IRU WZR GLIITHUHQW EDLWV 7KH QHZ KDUGHQHC
EDLWV XQOHVYV PRGLILFDWLRQV DUH PDGH WR WKH SODVWLF EI
LQVWDOOHG LQ WKH RULJLQDO VWHHO EDLW ER[ 7R GHSRVLW
ZLWK RQH EDLW DQG WKH RWKHU KDOI ZLWK WKH RWKHU FKRLF
DOWHUQDWHYV IURP VLGH WR VLGH WR SUHYHQW WKH WZR EDLW
OLNH WR RQO\ XVH RQH W\SH RI EDLW VLPSO\ ILOO ERWK VLGH)

, ] DSSO\LQJ (OVWRQ VXSSOLHG *RSKHU %DLW ZKLFK W\SLFDOO
JUDLQ QR VSDFHU SODWH VKRXOG EH XVHG ,I| RWKHU W\SHV R
VORW IRU WKH VHHGHU VOLGH EHWZHHQ WKH VHHGHU EDVH DC
VSDFHU SODWHV XQWLO WKH JDS LV ODUJH HQRXJK WR ILW PR\
EH VLIJQLILFDQWO\ JURXQG XS DQG VRPH SDUWV LQ WKH VHHGF



8VLQJ <RXU *RSKHU *HWWHU

$GMXVWLQJ '"HSRVLWDRQ 5DWH R

7KH EDLW DSSOLFDWLRQ UDWH RI WKH *$ LV DGMXVWHG E\ P
EDFNZDUGYV DQG IRUZDUGYV 2QH RI WKH WULSSHUV ORFDWHG R
DOORZ HYHQ OHVV EDLW WR EH GURSSHG LAMKBWW B EKRHGEW RHL W
EUDFNHW ZLWK EROWYV DQG VOLGLQJ LW EDFNZDUGV WRZDUG
UDWH :KHQ DSSO\LQJ (OVWRQ JRSKHU EDLW LW VKRXOG EH DC
LQ WKH VHHGHU VOLGH LV " DSSUR[LPDWHO\ Rl WKH ZD\ W
DSSUR[LPDWHO\ SRXQGV SHU DFUH ZLWK IHHW EHWZHHQ SD
EDLW GHDOHU IRU UHFRPPHQGHG VHWXS I WKH\ GR QRW KDYH
RSHQLQJ LQ WKH VHHGHU VOLGH RI DSSUR[LPDWHO\ " DQG Wi
VHFWLRQ DERYH DQG PHDVXUH WKH DFWXDO DSSOLFDWLRQ UD!
EDVH EDFNZDUG DQG IRUZDUGY DQG SRWHQWLDOO\ LQFUHDVH
DUH VWLOO XQDEOH WR DFKLHYH WKH DSSOLFDWLRQ UDWH \RX

JLIXUH$SGMXVWLQJ 5DWH RI %DLW $SSOLFDWLR!

$GMXVWLQJ '"HSWK %DLW

7KH SDENHU ZKHHO GHWHUPLQHYV KRZ GHHS WKH WRUSHGR WXE
7KH GHSWK RI WKH WRUSHGR WXEH VKRXOG PDWFK WKH GHSWHK
FDQ EH GHWHUPLQHG E\ ORFDWLQJ DQG GLJJLQJ XS RQH RI WK
DFWLYHO\ ZRUNLQJ DQG DGMXVWLQJ WKH SDFNHU ZKHHO DFFRI
WRUSHGR WXEH EH H[DFW RQO\ WKDW LW LV FORVH HQRXJK W
DGMXVWPHQWY DUH PDGH ZLWK WKH WZR WKUHDGHG URGV ORF
VWDQGLQJ EHKLQG WKH PDFKLQH DQG IDFLQJ WKH PDFKLQH W
RQFH WKH GHFLGHG SRVLWLRQ LV VHW DQG WKH URG RQ WKH C
ORRVHQ WKH WZR QXWV RQ ERWK URGVY WKDW ORFN WKH DGMX

WKH WZR QXWV EDFN LQ SRVLWLRQ DQG WLIKWHQ WR ORFN WK
DGMXVWPHQW



8VLQJ <RXU *RSKHU *HWWHU

JLIXUH B3DFNHU :KHHO $GMXVWPHQW

$GMXVWLQJ '"HSWK RI &RXOWHU

7KLY PDFKLQH LV SURYLGHG ZLWK D VSULQJ ORDGHG FRXOWHU
D ZLGH UDQJH RI DGMXVWPHQWY LQ GHSWK *HQHUDOO\ WKH F
EODGH FXWV WKURXJK WKH GHEULVY RQ WKH VXUIDFH DQG WKH
SDVVHV FOHDQO\ WKURXJK WKH VRLO ,I QRW WKH NQLIH ZLOO
RI WKH JURXQG W\SLFDOO\ UHVXOWLQJ LQ EORFNDJH VLPLODU

J)LIXUH SRRWV FDWFKLQJ RQ NQLIH GXH WR FRXOWF



8VLQJ <RXU *RSKHU *HWWHU

,Q DUHDV VXFK DV SDVWXUH

X 7TXQQHO GHSWK RI DSSUR[LPDWHO\ WR LQFKHV LV UHFRF
,Q DOIDOID ILHOGYV

Xx $GMXVW WKH FRXOWHU DV GHHS DV SRVVLEOH ZKLOH NHHSES
6" RU VR EHORZ WKH ERWWRP HGJH RI WKH WRUSHGR WXE}

J)LIXUH &RXOWHU EODGH GHSWK IRU WUHDWPHC

'HSHQGLQJ RQ \RXU H[DFW FRQGLWLRQV WKH GHSWK PD\ QHHC
UHFRPPHQGDWLRQV

7R DGMXVW WKH GHSWK RI WKH FRXOWHU EODGH ORRVHQ WKH
GRZQ RQ WKH FRXOWHU VKDQN /RFN WKH FRXOWHU FODPS ZKH
DGMXVWPHQWY WKH EROWV WKDW KROG WKH FRXOWHU VKDQN
WKH VKDQN VOLG XS RU GRZQ IRU IXUWKHU DGMXVWPHQWYV 7L.
KROG WKH VKDQN LQ QRUPDO RSHUDWLRQ QR PRUH WKDQ IW
RQH Rl WKHP WR IDLO ZKHQ WKH FRXOWHU VSULQJV EDFN DIWH

2SHUDWLQJ ,QVWUXFWLRQV

7KH EDLW XVHG LQ WKLV PDFKLQH LV KLJKO\ WRJ[LF
LI XVHG LPSURSHUO\ $0ZD\V IROORZ DOO SUHFDX\
XVH 6WRUH EDLW DV UHFRPPHQGHG EHWZHHQ DSS
ER]J



8VLQJ <RXU *RSKHU *HWWHU

7R SUHYHQW DFFLGHQWY LQYROYLQJ LQMXU\ RU GI
WUDFWRU RU *RSKHU *HWWHU ZKLOH WKH WUDFWR
LOVWUXFWLRQV SURYLGHG ZLWK WKH WUDFWRU

5LVN RI HISHQVLYH GDPDJH DQG SRVVLEOH LQMXU\
XQGHUJURXQG SLSH RU RWKHU OLQHV LQ WKH DUH

/R DYRLG HIWHOVLYH GDPDJH WR \RXU PDFKLQH
t+ 1WHU EDFNXS RU WXUQ ZKLOH WKH PDFKLQH LV LQ
t+ $0zZzD\V UHSODFH WKH VKHDU EROW ZLWK DQ LGHQV

t+t 1IHYHU RYHU WLIJIKWHQ WKH RQH LQFK EROW DWWDI
EROW 7KH\ VKRXOG ORRVHO\ FODPS WKH NQLIH DQ
IDLOV

t+ $0zZD\V OLPLW \RXU VSHHG WR PSK RU OHVYV

t+ $YRLG ODUJH URFNV WUHH URRWVYV FRQFUHWH DQ
\RXU VSHHG IXUWKHU LQ DUHDV ZLWK WKHVH KD]D

t 6WRS TXLFNO\ ZKHQ WKH VKHDU EROW IDLOV

t+ 1HYHU DGG PRUH WKDQ OEV FRPELQHG RI ZHLJFK
PDFKLQH

7KH DGYLFH DQG WLSV EHORZ DUH JHQHUDOL]J]HG RQHV IRU JRS
LQIRUPDWLRQ VSHFLILF WR \RXU DUHD SOHDVH VSHDN ZLWK W
ORFDO HIWHQVLRQ DJHQW RU DUHD IDUPHUV WKDW XVH JRSKH

6SDFH \RXU WUHDWPHQWYV WR IHHW DSDUW LQ VWUDLJKW
ERUGHULQJ DUHDV ZLWK KLJK SRSXODWLRQ RI JRSKHUV WKDW
JRSKHU JHWWHU ZLOO DSSO\ DSSUR[LPDWHO\ WZR SRXQGV SHU

EXUURZY DUH VSDFHG WR IHHW DSDUW DV VKRZQ LQ )LJXU
RYHU D ZKROH ILHOG DQG DVVXPH DQ DYHUDJH LQIHVWDWLRQ \
EH WUHDWHG ,I| WKH LQIHVWDWLRQ LV PRUH VHYHUH WKH DSS

VHWXS 7KH EDLW ZLOO EH PRVW HIIHFWLYH LI DSSOLHG ZKHQ .
6SULQJ DQG IDOO DUH WKH PRVW HIITHFWLYH WLPHVY HVSHFLDC
GXULQJ WKH VXPPHU H[SHFW UHGXFHG FRQWURO UHVXOWYV



8VLQJ <RXU *RSKHU *HWWHU

J)LIXUH $SSOLFDWLRQ GLVWDQFH EHWZHHQ DSSC

$V \RX VWDUW DQG HQG D SDVV VPRRWKO\ UDLVH DQG ORZHU
PLQLPL]H GDPDJH WR WKH VXUIDFH RI WKH VRLO ,Q DQ HPHUJF
PD\ GLVWXUE D VLJQLILFDQW DPRXQW RI VRLO 7R OLPLW GDPD
GRZQ WKH VORSH RI WKH KLOO

7KLY PDFKLQH ZRUNV EHVW LQ PRLVW VRLO ,W LV UDUHO\ D SL
NQLIH DQG WKH SDFNHU ZKHHOV DQG LQWHUIHUH ZLWK WKH GH
SUREOHP LV VRLO WKDW LV WRR GU\ :KHQ LW LV WKH PDFKLQ!
UHILOO WKH WXQQHO UHGXFLQJ WKH HIITHFWLYHQHVYV RI WKH E
JRSKHU JHWWHU ZRUNV LQ D KXJH UDQJH RI VRLO PRLVWXUH FI
UDQJH RI FRQGLWLRQV

,/ \RX KDYH FHUWDLQ W\SHV RI VRLO RU ORZ VRLO PRLVWXUH \
GHSWK ZKHUH WKH SDFNHU ZKHHO ZLOO WXUQ FRQVLVWHQWO\
VORSLQJ VOLJKWO\ GRZQZDUG LQWR WKH VRLO D IHZ GHJUHHYV
FKDQJLQJ WKH OHQJWK RI WKH ORZHU DUPV RQ WKH WKUHH SR
WKH IRUFH UHTXLUHG WR JHW WKH PDFKLQH LQWR WKH JURXQC
ZHLIJKW IURP WR SRXQGV PD[LPXP

7KH DGYLFH DQG WLSV DERYH DQG EHORZ DUH JHQHUDOL]HG R
FRXQWU\ )RU LQIRUPDWLRQ VSHFLILF WR \RXU DUHD SOHDVH "
IURP \RXU ORFDO HWHQVLRQ DJHQW RU DUHD IDUPHUV WKDW



8VLQJ <RXU *RSKHU *HWWHU

ZSHUDWLQJ /7LSV
IHYHU WXUQ RU EDEN XS ZLWK WKH PDFKLQH LQ WKH JURX:

1HYHU RYHU WLIJKWHQ WKH ROH LQFK EROW DWWDFKLQJ Wi
ORRVH HQRXJK WR DOORZ WKH NQLIH DQG WKH SDUWYV DWW

1HYHU RYHU JUHDVH WKH VHHGHU VOLGH 7RR PXFK JUHDVI
VXUIDFHV RI WKH XQLW ZKHQ LW FRQWDFWYV WKH EDLW WUI
FDXVH LW WR SOXJ

$07zZD\V UHSODFH WKH VKHDU EROW ZLWK DQ LGHQWLFDO Jl
JUDGH ZLOO JUHDWO\ LQFUHDVH WKH ULVN RI H[SHQVLYH
REVWUXFWLRQ

$07ZD\V FKHFEN WKDW WKHUH DUH QR XQOGHUJURXQG SLSHV I
7TKHUH LV QRWKLQJ ZRUVH WR KLW ZLWK \RXU JRSKHU JHW\

$07ZD\V VWDUW VORZ HVSHFLDOO\ LI \RXYfUH QHZ WR WKH JF
ILH®W QR SRLQW VKRXOG \RX JQ MRPMHRRW&DWLRRSK HVSHF
URFN\ JURXQG LW ZLOO EH QHFHVVDU\ WR OLPLW \RXU VSF}

$07ZD\V VWRS TXLENO\ ZKHQ WKH VKHDU EROW IDLOV ,I \RX
WKDW \RX KLW LV HVSHFLDOO\ WHQDFLRXV OLNH D WUHH U
HQRXJK IRU WKH EDLW ER[ WR SLYRW DURXQG DQG GDPDJH

$GGLWLRQDO ,QIRUPDWLRQ

,/ \RX DUH KDYLQJ WURXEOH VHWWLQJ XS RU RSHUDWLQJ \RXU
SXUFKDVHG \RXU *$ , ] \RX DUH XQDEOH WR FRQWDFW WKHP
TXHVWLRQV SOHDVH FRQWDFW (OVWRQ ODQXIDFWXULQJ DW
Z2Z2Z HOVWRQPIJ FRP




ODLQWHQDQFH

5 ODLQWHQDQFH

(YHU\ XVH
, QVSHFW WRUSHGR WXEH SRLQW IRU H[FHVVLYH ZHDU RU GDPD

,QVSHFW VKHDU EROW IRU GDPDJH UHSODFH LI QHFHVVDU\

(YHU\ VHDVRQ RU OEV RI EDLW
&KHFN LI WKH XQLW QHHGV WR EH JUHDVHG ,I VR OLJKWO\ JU}
ZKHHO KXE DV VKRZQ LQ )LJXUH DQG WKH SDFNHU ZKHHO D«

&KHFN WKDW WKH WLUH SUHVVXUH LV SVL
5HSODFH DQ\ VDIHW\ GHFDOV WKDW DUH QR ORQJHU UHDGDEOF

*$ *UHDVH 3RLQWYV

JLIXUH *UHDVH 3RLQWYV RQ 3DFNHU :KHHO +X



ODLQWHQDQFH

J)LIXUH *UHDVH 3RLQWYV RQ 3DFNHU :KHHO $GM X\






Parts List for GA-800 Complete Unit

Assemblies
Ref # Name Page #
1 Knife Assembly G2
2 Coulter Assembly G3
3 Seeder Assembly G4
4 Packer Wheel Assembly G5
5 Frame Assembly G6

Please Call Elston Manufacturing for information on purchasing gopher bait (poison).

Gl



Parts List for GA-800

Ref # Name Part #
1 Knife - Elliptical Arc G7-103
2 Torpedo Tube G7-102
3 Torpedo Point G1-105
4 3/8"-16 x 3/8” Set Screw G1-143
5 Seeder Tube G9-201

6 Barbed Wye Connector G7-423A
7 Plastic Hose G4-122
1-5, Knife Assembly G9-200

12-14 (complete)

Ref #

8
9
10
11
12
13
14

Knife Assembly

Description

1/2"-13 x 2 1/2" Hex Head Bolt (Grade 5)*
1/2" Washer

1/2" Lock Washer

1/2" Hex Nut

1/4"-20 Prevailing Torque Lock Nut

1/4" Washer

1/4"-20 x 1 1/2" Hex Head Bolt

* This bolt must be grade 5 (or softer). It is designed as a shear bolt to prevent damage when hitting underground

obstructions. Using a harder bolt could result in expensive repairs.

All hardware listed is coarse thread (UNC) and Grade 5 or better unless otherwise noted.

G2



Parts List for GA-800 Coulter Assembly

Ref # Name Part # Ref # Description
1 Coulter Shank G9-301 6 5/8"-11 x 1" Square Hd Set Screw
2 Coulter Blade - 22” G7-203 7 3/8"-16 x 3/4” Sq Hd Set Screw
3 Coulter Shank Clamp G9-302 8 3/8” x 2 1/2” Roll Pin
4 Single Arm Coulter G7-201 9 1/2"-13 Hex Nut
5 2975 Locking Collar G7-201-19 10 1/2" Lock Washer
1-5,  Coulter Assembly G9-300 11 1/2" Washer
6-14 12 1/2"-13 x 6" Hex Head Bolt (Grade 8)
13 5/16” x 2 1/2” Cotter Pin
14 1/2"-13 x 1 1/4” Cage Bolt

All hardware listed is coarse thread (UNC) and
Grade 5 or better unless otherwise noted.

G3



Parts List for GA-800

12

13

14
10-13,19,20

29

@
®

Name

Seeder Base Assembly
Seeder Slide & Pin

Drive Gear

Tripper

Axle Bushing

Seeder Drive Axle

Seeder Mntg Bracket - Left
Seeder Mntg Bracket - Right
Side Adjustment Plate
Plastic Bait Box Lid

Plastic Bait Box

Lid Retaining Strap

(Not Shown)

Plastic Bait Box Lid Assy
Drain Cap

Plastic Hose

Plastic Bait Box Assembly
GA-700 Bait Spacer Plate

Part #

G7-414A
G7-413
G4-203
G7-418
G3-324
G7-419
G7-417
G7-417
G7-416
G4-234P
G7-434P
G4-233P

G4-231P
G4-221P
G4-122

G7-435P

G7-408B

G4

Seeder Assembly
Ref # Name Part #
15 Seeder Box Spring (Not Shown) G7-433
16  Seeder Slide Spring (Not Shown) G7-429
17  Chain Guard (Not Shown) G7-411
1-29 Seeder Assembly G7-400
Ref # Description
18 3/8"-16 x 1" Wislock Hex Bolt
19 3/8"-16 Wislock Hex Nut
20 #8 1/2" Sheet Metal Screw
21 9/16" of 3/16" Square Key Stock
22 #10 Internal Locking Washer
23 #10-24 1" Soc Hd Cap Screw (Use LocTite)
24 3/8"-16 x 1" Hex Head Bolt
25 3/8” Washer
26 3/8” Lock Washer
27 3/8"-16 Hex Nut
28 1/4” x 1 1/2” Slotted Spring Pin



Parts List for GA-800

© 00 N O o A WN

[ S S S T
w N P O

Name Part #
Packer Wheel Swing Arm-Right G9-401R

Packer Wheel Swing Arm-Left

G9-401L

Swing Arm & Packer Wheel Axle G7-304

Lift Arm Connecting Nut Assy
Lift Arm Connecting Bolt Assy
Packer Wheel Hub Spacer
Packer Wheel Adjustment Rod
Lift Arm Link

36 Tooth Sprocket Assembly
Bearing & Hub Assembly

Tire & Wheel Assembly

Chain (Not Shown)

Hub Spacer Flange

G7-308
G7-309
G7-310
G7-311
G7-312
G7-314
G7-317
G7-318
G7-321
G7-438

Packer Wheel Assembly

Ref # Description
14 1"-8 Nylock Hex Head Nut
15 1" Fender Washer
16 17-8 Hex Jam Nut
17 1"-8 Hex Nut
18 1" Lock Washer
Ref # Name Part #
1-18 Packer Wheel Assembly G9-400

All hardware listed is coarse thread (UNC) and Grade 5 or better unless otherwise noted.

G5

*Not Available Separately



Parts List for GA-800

Ref #

2
3
4
5
6
7
8

Name

Frame

Leg Stand

Snap In Pin for Legs
CAT 2 Top Link

CAT 3 Top Link

CAT 2 Lift Pin

CAT 2 to CAT 3 Lift Pin Adaptor

Lynch Pins

G6

Part #

G9-101
G9-102
G7-526
G8-505
G8-506
G8-507
G8-508
G8-509

Frame Assembly - G9-100

Qty
x1
X2
X2
x1
x1
X2
X2
x4



"o " )N0"L21 -"30 )04%5"4/ 06 05
3",/ )IN0" - 7$/--.3/ $ . 054.06

"3" '$ . )NO" -3* /5)0"2 "1)0.*"
$4/$3- 0330 -)4",3/8.21 -"30 )04%5"4/
YLt 3% - YN0 <30 )

)--4 -03 )2 "1*3/ 3--3*4- 3/)01./5"
-$5) 530-940") 3/3",/.))6-3%)01:0.
4- 3*", -"30 )04%5"4/06 05 94$ 0"

)

%

%

-0 43%)01)0.)

"34" ") 30
0--*3/)$)/" 54)/

06 05 "3 7"0.3/
04%5"4/ 06 05
0./5" 05.0"

0/-$5""3",



V1 N

ELSTON MANUFACTURING INC.

WPV 706 N. Weber Ave.  1-800-845-1385
Sioux Falls, SD 57103
www.elstonmfg.com




